1000 CMS 137.0 b (13 TeV) . CMS 137.0 b (13 TeV)
S pp—TLi—t7 1 T2 3 80 pp->TLi b T > W T
(5 900] Approx. NNLO+NNLL exclusion ] = (0] Approx. NNLO+NNLL exclusion 1
= =Observed £ 10y, 10 § = =Observed £ 16,55,  Mp=(m+mo2 |||
¥ 800[ =iZ Expected + 1, 2 2B Expected+ 1,2 ¢ o E
S - EXP - Gexperiment | 8 - EXp - experiment J
e o = n = 9 Ll
700: 1 -1 %] 600: 'y 1 <
E 1 3 3 E 1 3
600:* E E 5 5001 F 3 E
= 4 i § F 1
M e 1 202 400F \ i 3
400F 4 1 E s Lo - e
o 1 _in2 = 300 e A
300 2 3 g8 S -
F 1 S 200 & HIE =
200F = W E i 13
E 1 21070 F s
100f 1 100E Bl
£ i t 0 A L b ; |
o) N PN BN P B | WIS | PP o) N IR PR IR T
200 400 600 800 1000 1200 1400 400 600 800 1000 1200 1400
m; [GeV] m- [GeV]
CMS 137.0 6" (13 TeV) .
= goo| PP FLT—bT bW K] or f - t7(50%) T
: ] Q
(O} Approx. NNLO+NNLL exclusion 1 =
= =Observed £ 16, m;-my=5GeV || 11g E
Expected £ 1, 2 O g periment e *g
600F = 1 &
E ~ S 1 41 9]
F 5, 1 3 3
5001 4 o
C i ! 1 10" S
400 \ - IE -
r N ' 1 7 E
300; f‘v 0 *: - 10—2 ag-
E: | L I
200F & | =]
: B | R
100~ ',' ' =l R®
L i ¢ de [re}
| I A | PR
400 600 800 1000 1200 1400

My

[GeV]

—
o
o

=
i\

95% CL upper limit on cross section [pb]



